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CAMOSUN Mathematics 100 Test #3A ame: __ SoLUTION

COLLEGE

Instructor: George Ballinger Section:

Term: Fall, 2011

The Sharp EL-531 calculator may be used on this test. Mark:

| Show all of your work in the space provided. 2 5
| The number of marks for each question is indicated in brackets.
1. Find the following indefinite integrals.
(a) J(sz -Tx+2-¢* +3)dx
x
= -%)(3— % X2y —e” + 301\ +
[2]
) j 125in 56 cos*50 d6
OR = Cos 58
= 1a g 050 Sin50 6 ©&) let u
(LA = —535m506 J,Q
= — 3 -4
= %S‘(CO559§ ("551(\593d9 S‘m‘Sedag Sd&g
- - % S\as 56 cos®50d 0
B T B dp(esse) +C e ,
={ a3 (- £ )du - "2 (lde
-3 4

Zohur C = "% Cos'se+C

(©) I7x\/6—xdx

Jot usgx = x=6-u | I
du = -dx — dx=-du @ LQ% U =nbox

u*= L-x = X= o-u™

g1xm4\‘ = g'l (G—QJ"(-C)@ auwdu=—dx = dx = ~dudw

3] S‘T A (u-Odu = g‘(’luf’L o Jdun 51)(.]'@,’—_\2&« = gﬂ(g—ut)u(*“)i“
= 7 %U z.__ 4 3. :;-U-WL*’ Q - g N\Az (ui"é\)e[m= g\(“(u"- g‘{U‘)Ju

i

‘% us— A8+ C

= ()= 38 (b-x)C
- () ag (o5 C

Page 1 of 4



2. Let f(x)=4x>+3x+5 and note that f(1)=12. Find (7')(12) and (f')'(12).

-g\’(x) = x4 3 >0 v X ; o0 £s WM\N& towd has an inverse.,

(D= )
y Jd o _
(1; >/(\l\ = _S:'(\\ ~\5
2]

5
3. Sketch the region of the xy-plane whose area is represented by the integral jw/25 —x? dx and then evaluate the
-5

integral by using a geometry formula.

%
/g gsia?-—?du = orea of Sermicorelo.
ﬂ (///ﬁx - - %-frst) - BT

[2]

x2

4. Let f(x)= j sinv/ dt and find f'(7/2).

’P(x\ = Sialx* - AX = AX SWMX

(2] —?'(WL\ = 'a:;,: sz; = Ar
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5. Evaluate I(x +4)? dx by using the limit of a Riemann sum definition of a definite integral:
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6. Use logarithmic differentiation to differentiate y = (sinx)*

S = Jo Lt < & h(sin)
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(a) Use Simpson's Rule with n = 4 to approximate the integral Iln x dx and round your approximation to

four decimal places.

‘gﬂq Q%{l*l Yhals 3bn219L0 % + ]
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3
(b) Using the fact that % [xInx-x]=1nx, find the exact value of I Inx dx and then round this exact

answer to four decimal places.
ST lox dx = CxLx—x]T = (?A?-?) - [/Al-t)

= 3/n3 -2 o= 27 -2

/295 9

[2]

(c) Find the average value of f(x) =Inx on the interval 1, 3]. Round your answer to four decimal places.

'L‘ f foydx = g Lexdye = ‘%; (?fm?-z’) x= 0. 6479
(1]
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